RRH:

TE1 RINBELR A BIE RS
BTk, NEE S
T1E=FERIA 150 mm

ERAR (B FRA

novotechnik

Siedle Group

H]

AT A N B SRS, AT EANEMNE, A
B RR W, BoRSE, fRUhRERR. RIEES.

e

o EAFEMK, MAFRMHSA,
o My, mE Ak £0.075%
o i LI B A S g

o SR AT

[

BT

o TR T A ERER A5 #4 T R O 1 B g

o BATHEER AL 10 m/s
o pinpdiFniRsh I TERE
o ]k HL AT B S 1 T X

e REAROMC BT IR I B, JUH R RLAT W i ph 4 ) 22
WA S, BRI IR A5 BRI BRES HE SRR 1] B

S Y ANNDECINIR
FF AL TR, B3R B e R 255 I m,

W% 100 x 10° Rigd)

i B

A 5t PR S AL

E-S £ ] R et

$i T A8 AISI 303

Bk 54 WA M5 x 0.5 BRI SRER, H KB, gz ohat )

EQURIVS Wi 2k 4 I Ak

HL L C S 9L

T WL B4 I 2 kB R, L BELTE

AR 34 M8 x 1 [ilfdEk, btk

35 PVC BfilgHL4E, 3x0.14mm?, K 2%

1

BEEEEAR (E¥) BHRAF  TEL:400-800-5927 3¢ T.: 18017427003

www. tifu—auto. com



novotechnik
HREEFEA (L) HFRAF Sed oo

R}

FRUER (Z-45) Al (Z3-31) FRUER (Z-45) Al (Z3-31)
8 S 3 S| ol o
> @ =
0 © N~
1 u T u *
1 1 1 [ T «
DIN EN ISO 1207 DIN EN ISO 1207 45 o
M4x10 1.6 M4x10 16
il bl 18 HLEE ) 18
#% K 140 Ncm e %K 140 Nem —
M4 <
g
M4
o) N
= 3
£
o~ w0
o )
R
=0l . o
= B SW-10 o R
=T
= I SW -10
: I
) ] L/ ¢ :
< 0 o
< A 7-45
o @ ° g
I ] |
2| @ =
N 2z
M5x0,5
\§ ~
4
§\/ B 'l M5x0,5
+0,3| +0,3
2838 28,8
40 o
HrEEsk BB RS (==
#5101 %5 202 EEM 33-56/-57/-58/-59/-60/-61
I E23c) ki P LR
293 - :
0 0 £ 4 SR L e [ERez b
i '\-E £ 3 kit e Bl
[to]
S|
N o
#10
EEM 33-56/-58/-60 EEM 33-57/-59/-61

2

BEABEEAR (L) BRAF TEL:400-800-5927 3K T.: 18017427003

www. tifu—auto. com



novotechnik

RRBEFEAR (L) FRAF oo
S

BSEX TE1-0025 TE1 -0050 TE1-0075 TE1-0100 TE1-0150
HHSH =T
ek (RHA) 63 88 113 138 188 +1mm
BUbkATRE (RS B) 30 55 80 105 155 +1.5mm
i
g 183 202 222 245 328 g
ik 138 157 177 201 280 g
TAEZTy (KI5 <03 N
BRI R AR M + 1 mm FA R, 2.5° fi I
i MR T I R SRV HLIE (1) 140 Nem
LA K10 m/s
BESH
AR 25 50 75 100 150 mm
T Ltk +0.2 +0.15 +0.1 +0.075 +0.075 % F.S.
Haxf Ltk - +0.275 +0.225 +0.175 +0.15 +0.15 % FS.
Al 0.002 mm
SRR TEh
B (S >10 kHz
MAFRAE il £ 1.0 mm
s s 0. 10V (s/hMagkbisi > 10 kQ, FMHIE <10 mV)
HL P L 3 10... 0V (e/haggBiLbT > 10 kQ, FEHHE <10 mV)

4...20mA (fi# <500 Q)

20 ...4mA (f3k <500 Q)
LR PR A R 3 B B Pl T A FL )
TAERE 16 ... 30 Y
TAEHED S K 10 % Vss
TC G IR D FE <1 w
I R EL <20 ppm/K
PR <36 (KA) \Y
MePERIR, R R PR A (R TAERIR)
#a 2B Hi (500 VDC) >10 MQ
TS
ARG -40 ... +85 °C
AR 0...95 (Jei&ikE) %R.H.
Yk ke (IEC 60068-2-6) 20 (5 ... 2000 Hz, Anax = 0.75 mm) g
Bishifi ki (IEC 60068-2-27) 50 (11 ms) ( #iif ) g
Bii$h%:4% (DIN EN 60529) IP 40
Fi i >100 x 10° s
MTTF (ISO 13849-1, Jt A%k B T ke ) 25 4

Dhhese vk gk

IAHEA R G T R AR ARG, R AR

il )& EMC Frife

EN 61000-4-2 electrostatic discharges (ESD) 4 kV, 8 kV
EN 61000-4-3 electromagnetic fields 10 V/m
EN 61000-4-4 electrical fast transients (burst) 1 kV

EN 61000-4-6 conducted disturbances, induced by RF fields 10 V/m eff.

EN 55016-2-3 radiated disturbances class B

*) T R S A

3

BRABEA (L) HRAT  TEL:400-800-5927 ¥ T.: 18017427003

www. tifu—auto. com



A

‘ novotechnik
%ﬂ% a @&7& (J:‘{@) ﬁl}&&\ﬁ Siedle Group

1T A& 5L A
RS BAE, XS M o
SR U
TE1 -0
3]

TiEEETERE
bR
0025 mm % 0150 mm

BSED
4. BN
BEHHESEO 4 __
1. WS
2. Wikl
BN HEEHHED 41_
1: 0VDC...10VDC ($ifF4ili =0 V)
2: 10VDC ... 0VDC (hif4xthit =10 V)
BRI HED 42_
1: 4mA...20 mA (HIFFAXEIN = 4 mA)
2: 20mA ... 4 mA (FrFF4 it = 20 mA)
S ERE
101: 34k M8x1 W%k, Skl
202: NT bidfk 2 kb7 i gy
-4 1 1 - 1 0 1

101 fRIE MR BB

EHANE IR
o« 24745 BEK
o A4/ Mdx10 55T

1 AEREL

RIEE R AT EH = 5

o ARIMEFE, WARERSE, . AFESL AR g 7

WRRBEFEAR (L) BRAT TEL:400-800-5927 FKT.:

Glprit ks
o AANZ3-31 I, & 44 MAx10 BRET
P . 059010

o 3%FM8x 1 MBS, A PUR B4, 3x0.26mm?

2 kHidi, WS, EEM33-56, &4 : 005602
5kMgs, #ES. EEM 33-58, FimfmS: 005604
10 kM85, W5, EEM 33-60, ™M4mS: 005606

o 3% M8 x 1 M E), 1 PUR bRl 4E, 3 x 0.25mm2
2 K45, WS, EEM 33-57, Fmih%S . 005603
5MmgE, ®E. EEM 33-59, f“M4mS . 005605
10 K gi, WS, EEM 33-61, ™Mm%S: 005607

© 01/2014

mAEKR,

4 A SATEM,

18017427003

www. tifu—auto. com





